BACHELOR OF COMMERCE PREPARATORY PROGRAMME (BCPP)
qIOTsT H eATdh g 3edl Tadsha (S A1 & 9 -10)
CourseTitle: Bookkeeping & Business Mathematics Course Code: B. B. M.

a1 ofde: afi@rar va sgraaf@s o I FIs: o do THo
S.N. Objectives Type Questions UNIT FOR LEVEL
REFERENCE
(Answers)
Objective Type Questions
L | dofeqar + gt = .. 1 Low
— 1 (-
.......... Assets= Capital+.................. (Liability)
2. | JAWihel UIHT & 34 W TG HeAN I @ HIar ¢ & goTd: ar 3ifRe &7 & 2 Moderate
o Financial
........................ giar & | e
Accounting records only those transactions of lessnwhich are partly or fully
3. | cyawide TEAT & H¥dcd 3TH T & JUF ¢ giar &1 TE/TeId 2 L ow
. . . N . False
Existence of a business firm is not separate ftsrawner. True/False
4 |3 @ S afFaEt & G & o & gl §, dEaa g g Moderate
Those accounts which show transactions with peramn&nown (@)
%) dIEdTde Wrdl g) IIFAId @il
a) Real Account BP)ersonal Account
aT) ATHA @rdT ") 3IH ¥ HIS AT

c) Nominal Account d) None of thes




S | FqErE @Rl 3 SRl # Fud faf ¥ qF erae e & v & e aren C:sh Low
“WC ........... m %—I Discount
Discount given by a businessman to his debtorpé&yment before its due date| is e 27
knownas .....................
6. | camardr @Rt 3UR %I T T AT B OAGT qdsF # fRar Srar B 6 Moderate
: . . Purchase
Goods purchased on credit by businessman recanded.i................... book -
1| O HoT e age o R ST AE e Fead gl Badlgebts Low
Debt which can not be recoveris knownas ..................... e, S —
8 | 3y o TEY F o A7 AT 30T AT a¥ F g Hr swaeht 35T 3w Flll L ow
ase
Fgeldl gl FEI/ITTd —
Income about which profit or service will acquime the next year is known as
accrued income. True/false
O | gHEd UcTeT ehg.................. T 7 e 6 aa ¥ | 10 Moderate
. . . Trading Alc
All direct expenses are debited in...................... TR T
10. | Frorgd 9 9a« fde frar arar & 1C0 Low
Wages and salary debited in (aT)
&) ddel @rdr ) HIGY @I
a) Salary Account Vidages Account
) HIGY @ dclel el ") 3Wad H & &g AgT
c) Wages and Salary Account d) &lohthe Above
Short Answer Type Questions
L | orEies @ gotelr 1 @A ads| 1 Low
Explain the limitations of accounting informatioysgem.
2. 2 Low

HFEYSo5 ThBfrear W feeqol faf@u|




Write a note on computerized accounting.

3. | e el ¥ 3T FI1 FHSY & ? 3 Low
What do you mean by accounting principles?

4 | T @at & e gur Fe S F [AIF A= 4 Moderate
Explain the rules for debit and credit of variogs@unts.

5 | @ &1 AW F&T FHenrelr STdr § | 5 Low
Why balancing the accounts?

6. | geur =3 I WA F FAT ATH g7 6 L ow
What are the benefits of petty cash book?

1| gade 7 YL 1 gar fFE YR o@ar Sar §? 7 Moderate
How error can trace out in trial balance?

8. | gouc S & FAT 32T 872 7 L ow
What are the objectives of trial balance?

9. | qofera Wity @ dogherd s W ool faf@w 8 Moderate
Write a note on capital receipts and capital expares.

10. | smar g1fet @ & T A S arelr ifedd wfafedt &1 auvia fHifsw ° L ow
Describe the final journal entries in the profiddass account.

1L | ycmer 3r9caey sat 7 IR AT 10 Low
Differentiate between direct and indirect expenses.

12. | 31ged =99 T Ydacd AT F ek TS AT 11 L ow
Differentiate between outstanding and prepaid ediperes.

13. 12 Moder ate

gHle & diaT TAle HAA: 27800 FIA 16689 FIY 3 28735 T H WG| gHig o d=Ar
TeTel &l TieA W FHol fhcall TR @t Hr?

Hamid purchased three plots Rs. 27890, Rs. 16689Rm 28735 respectively.

How much amount spent by Hamid on purchasing thkge?




14. 320 IATH AT T Hed 360400 TG § TASA T 1 ATH HIA AT AT &A1 gral ? 12 Moderate
The price of 320 gram gold is Rs. 360400. Then whihthe cost of 1 gram gold?

15. | 2ab 3ab 3T abhaFT JETHS AT FIT 13 Moderate
Calculate the value & 3 and ab.

16. | 10-2x 63T gl F | 14 High
Solve 10-2x=6

17 1 a7, 25, 4113 oo FT graar ue AT 15 High
417,215, 4113 ..o calculate th& Salue.

18. | 20,000 ®IF W 5 q§ & 10% aI¥h & & Ahglg sATST AT HIfaT| 16 Moderate
Calculate the compound interest on Rs. 20,000 j@dbs at the rate of 10%.

. | geew & TR Fa-aiaT & ¢ 17 L ow
What are the types of sets?

20. | gaa 3R "9 fr 3T wfed carEar Hifev) 18 Moderate
Explain the permutations and combination with tefplof examples.

Long Answers Type Questions

L | Jgies @HEROT ¥ AT FT AT §? 3SR S 9 F a7 B THR Fedse 1 Moderate
gl gl
What do you mean by accounting equation? Explath examples that how it |s
satisfied.

2. | JGichel W FAT 1T 2 AWicheT & 32247 & FHSSY| 2 L ow
What is accounting? Explain the objectives of aotiog.

3. | “IRTT Gt YGUROT AR T FET T 3T AT T e G A" 3H HUA Hr 3 High

3T TcHS STTEAT HITAT|
“Cost related concept does not present the trudaandiew of business”. Critically

explain the statement.




4. | gfauefiy TheusT & TIHT FAT dcIY §? W W S8 THd & 8 guia HAfSw 4 Moderate
I
What do you mean by double entry system? Explaiaffect on accounting.

5 | yrfewe wfdfese @ 319 Far gAY €2 oo & yrfA« gfafte & @dl g gar 5 Moderate
&1 S F
What do you mean by Journal entries? How journttlesnposted in ledger?

6. | 7 Seter T B §? ATT St A WHAWAS: Fiel-wieT @ gfafSear @ e §? 6 Moderate
What is proper journal? What are the entries contynomssed in proper journal?

7| IREAT | 3T FAT FHASI §72 SoTal YUR &1 3MaTH 872 7 Moderate
What do you mean by errors? Why its rectificati®meécessary?

8. | Fede FT 82 50 FY R FRAT ST §? 7 L ow
What is trial balance? How it is prepared?

9. |cguR Tur oy g @rdat ¥ 39 FAT GHSS &7 SHE SeeT & 3e@h &1 auie 8 L ow
ST
What do you mean by Trading and Profit & Loss Aau@uDescribe the objectives
of its preparation.

10. |Res @ Far 3mey & Aes & grufadl 7 gficat & w7 @ REs i [t & 11 Moderate
gofer S|
What is balance sheet? Describe the methods ofisgaagsets and liabilities in
order in a balance sheet.

11. | e 3 O3 Moderate
&) 7/98/12 (@) 1/9-1/18-1/12
Simplify (a) 7/98/12 (b) 1/9-1/18-1/12

12. 13 Moder ate

3x+5y @ 2x-3y HI JRTH AT IR |




Find the addition 08x+5y & 2x-3y

13.

6X-7y-82 A | 2x-2y+3z &l TCIAT |
Subtract 2x -2y +3z from 6x -7y -8z.

13

High

14.

X-Y +8 T 7X +Y+7= 0T §oT hIToU |
Solve x-y+8 & 7x+y+7=0

14

High

15.

x>-10x+24= OHHIUT H gol foehrail |
Solve the equation ok>-10x+24=0

15

Moderate

16.

2100 ®IY DI TH T T & #ALT 2:5 A [AdRd |
Distribute Rs. of 2100 between Ram and Shyam imatie of 2:5.

16

Low

17.

HAT T ddel HAGY o ddel F 25% HH gl TAST FAlgI T dcdel hollel & dded o

foraer wfaera 3fas §2

Kailash salary is 25% less than salary of Manolknd out that how muc
Manohar salary is more than Kailash?

16

High

18.

18 TTSThel R aTell Ueh ATSfohel 325 §9F H WIIG F 3 375 ¥4 H dAAT g, Tfad

TH AT HIfAT|

1 bicycle purchased by a bicycle storeman in 3&%ees and then sell in 3]
rupees, calculate the percentage of profit.

16

Moderate

19.

EVEREST d2T CALCUTTA #H fhdel hHaTT daAd1?
How many permutations in EVEREST a@RLCUTTA.

17

M oder ate

20.

4671TT 845.78 ST TYITUThH IGEAC

Calculate the Logarithms of 4671 and 845.78.

19

High




